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10 Write shovt answers FIVE parts. ..Efs.:'l_.lz Vo L,lZléE.—_.gjf w2
' Write names of allergens which cause asthma, Y N 12, el (D)

e el rudua o i Lot p Lo vide (i)

Why spring season may prove more irritating for asthma patients?

Deline double pncumonia. -2Ey e Gin
Dilterentinte osmoregulation and thermoregulation, -ﬁfu&).ﬁﬁ&r}.,ng‘*—"ﬁ,ﬂ:l (iv)
What is dialysis? Write names of its types, .:efrc&;ﬁl‘;\;u ?g..;t;;fc,jr’gli )
Write munes and functions of any twa lobes of cerebrum, .,;.‘,'; Iy J",:lrn’::;';.-J Sﬂff n” (Vi)
Why vitamin-A is important for our eye? "?;d,;ﬂu;!r\-.:}‘r::f.Ldem (Cvii)
What is mixed nerve? Define, .,‘.‘;.f...g}"' ".;..Jmfs.‘if{‘iii)

10 Write short answers to any FIVE parts. .LJ;[.[:?/"&JZ!&&;.J:( 3
Write the role of tendons and ligaments, _;‘fJﬂ{.ﬂﬁ,ﬂ'}_&'—:‘ (i)
Write two disorders of human skeletal system, .&:.grré;u"' rm-:.ﬂ&f.‘f.fumb‘l (i)
How does reproduction contribute to the comtinuity of species? ‘.‘.;.:.g,?’li_-z‘c;_..}:u’i: L ,r"&-.;”'h_gu fiii)

i "".'—::-"-‘5.-'-.{\.-':‘.}2':‘{1‘)’f:‘#"k -é‘:"é‘)v:-"r’: (iv)

How does binary fission work in bacteria and unicellular cukary otes?
W hat are traits? Write two traits of human. &8 i (i 5‘.,;{:*..'.;:.;:—." (v)
Detine gene, Write symbols of gene lor any one trait, W :%’iﬁﬁdr‘;-{'u’-‘-‘dy'\;f (vi)
What is variation? Give two sources of variations. Tg_?-:.-g'f\‘,fidmi‘;," tre =S (i)
What is meant by breeds and cultivars? Too /'._a".:.;.uj"',r,‘,'._,;( viii)

10 Write short answers to any FIVE parts. ..gc-l..l.r‘./:"ﬁ:lmék;;jf -4
Define assimilation. BEAEY TR ()]

- st I & gk 7 - -
: ‘.“;'..r:rﬁ’u-..'h;.:__;ﬁd: L AL A LT S n (G
L How intra-specific competition is more stronger than intefsspecitic competition?

What are cftects of global warming? Coaatin it # il
How predation helps in maintaining ceflogicalbalanee? Yo JisatE aS i By b 2 ()
What are thymosin and beta-eadorphin’ Ty oo aedE ()
What is use of fermentation in Jaily products? fo ety b};ﬁrﬁvfu*"is.;é-;i (i)
’ How morphine can be obtained? Yo ded el A i)
d What are analgesics? Giye W examples. e S AT i)
y } S, F ol S o
w2 09 {_JI;-;_E,‘*:{/_‘»QILJ:.@UV.-s.:_dfc(»,ﬁ
Part - 15, Attempt any TWO questions, Each question carries 09 marks.
A »
04 _g’:'ug:".)’ .ic,d.n::J-du;'g’ S () 5
B Describethe process of selective re-ubsorption in Kidney.
05 Eerbafur? S LE LU e AL ()
What is skeleton? Also deseribe the components of human skeleton.
s . G L .
04 A /I(Funcuonal)d&h’;s!(\’ascular))ﬂs.‘f.r"uu () -6

Describe the vascular and functional disorders of nervous system.
05 --_{ukdij(:—i!ﬂ!;{_d-’LU‘;I"j}&.JJU{’{lﬂﬁ (-...)
Describe the structure of male reproductive system of rabbit with the help of diagram.
04 Write a note on single cell protein. _Q-"Z:j ..:-){,gf :,;VL“ J‘*’ () 7
05 -g‘:‘J’-'@'w",;:y:J&.)Z.rhs.—.,‘uf‘dyf&aw (o)
Classify the drugs on the basis of their chemical properties and mode of action.

1N0.X 124.48000 /.5




